MATH 215
Practice -Exam 2

1. Find the inverse of the given matrices. Show ALL row operations that you used.

4

a) Az-[s

U o
o |

3
\

lo
o\

B

-3
-1

|

s ¥s

Ve V{]

/i
- 'VIQ’L"7 R » :‘E ?‘éf\%o
{‘"3‘0 (os % V¢
05| 1 i %O%
Vs

yS?z"?:

4 -3|vo
[ol‘%"/{

3«’1 1 R\ = Rl

¢) Using the inverse of the matrix A = [

Axb
X=A"b
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1 2 4 1 4 =2 '
A=|-2 -3 -5 and B=|2 7 11"
2 1 -1 2 9 7

2. Using cofactor expansion across the first row to compute the determinant of A.
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3. Using cofactor expansion down last column to compute the determinant of
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4. Using row operations combined with cofactor expansion, compute the determinant of A
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5. Using row operations combined with cofactor expansion, compute the determinant of B
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6. What is the determinant of AB? What is the determinant of AT?

éc*(AB)féd\ (A)- &l(@) = 0-(r)= O
AW 23 () = O

7. Matrix A invertible? Matrix B invertible? Do the columns of A span R37
Are the columns of B linearly independent?
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(Same matrices A and B from page 2)

1 2 4 1 4 —27
A=| -2 -3 -5 and B=|2 7 -1
2 1 -1 2 9 7

8. Compute the product AB.
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9. Compute A” and BT and the product (AB). _ 1

(3 -8 2
| <) » « |2 )

> 53] Bl4wy 2 R
Y =5 ~ e B | 17.0( -2 -u

-3 2
10. (Section 6.1) Let u = 0 |andv=|1].
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Compute u”u, uu®, uTv, vTu, vuT, wo?, ||lu|, ||[v||, and the angle between u and v.
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